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INSTRUCTIONS AND INFORMATION

1. questions. Answer ALL the questions.
2. ng to the numbering system used in this
3.
4 E non-programmable and non-graphical), unless stated
5. Show ALL calculations clearly. 60
*
6. Indicate units of measurement, where applicable. ‘\0

7. Maps and diagrams are NOT necessarily drawn to scale @s
stated otherwise. Q

8. Write neatly and legibly.
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QUESTION 1

Mr Zulu is a teacher at Sizimele High School. He earns an annual income of
R420 600.

1.1 Write down R 420 600 in.w 2
R Wh _you write 420 6( /0 g‘_calculator it sometimes comes

> pu se of the comma. )
Xt year, calculate his new

3)

1.4 ing 30% of his total annual salary next year to the South .@tan

ervices (SARS) in income tax. O

1.4 Clm to a decimal number. O ()

1.42  Calculate the amount of income tax he will be paying to S @‘ after his annual (2)
salary increase. Q

1.43 Ifhe pays 30% of his income to SARS as income t@Q' at percentage of his (2)
salary is left over?

1.4.4  Calculate how much he will receive after tax ction monthly? 4)
\ 7
QUESTION 2 %)

2 O(Q

' -
A 22-seater taxi uses p ohat an average of 124 /100 km. This taxi was hired
by 15 people for an guting and they paid R 4 500 in total.

2.1.  Explain what 12# /100km means. (2)
2.2 Approximately how much fuel will be required for a journey
of 679 km? (Round off your answer to one decimal place) 3)
2.3 How many km could the taxi travel if it had 37¢ of petrol in its tank? (Round off
your answer to the nearest km). (3)
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2.4  How much will each person pay for hiring the taxi? (2)
2.5  If another 6 people join them, how much will they each
pay? 3)
[13]

Total: 30 marks
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Symbol Explanation

M Method

M/A Method with Accuracy

CA Consistent Accuracy

A Accuracy (Answer)

C Conversion

S Simplification

RT/RG/RM Reading from table / Reading from graph / Reading from map

F Choosing the correct formula

SF Substitution in formula

0] Opinion

P Penalty e.g. for no units, incorrect rounding, etc
R Rounding off / Reason

U Unit
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QUESTION 1 [17 MARKS]

No Solution Explanation T&
L
1.1 Four hundred twenty thousand and six hundred Rand v'v'A 2A Amount in words L1
(2)
1.2 The comma is a “thousands separator” (just like the space in 2 E Explanation
420 600). It is not a decimal comma. v'v' E L1
2)
1.3 8.2 IM multiplying by 420600 F
= 3448920 + 420600 M amount 3
=R455 089,20v" CA
1.4.1 30
100 1S simplification F
30% =100 vS=03vA P
° 1A decimal L1
(2)
1.4.2 IM multiplying 455 089.20 F
30 from 1.3 L2
100 X 455 089,20vM 1CA answer
= R 136 526.70 vCA @)
143 | 100% - 30%vMA = 70%YA IMA subtracting F
1A correct percentage L2
AO
()
1.4.4 IM Subtracting F
R455 089,20 - R 136 526.70 v M R136526.70 from 1.4.2 L3
IM Amount
= R 318562.50 vM
IM dividing by 12
R 318 562.50 = 12 vM
1CA monthly salary
= R26 546.88 vCA
“4)

[17]
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QUESTION 2 [13 MARKS]
2.1. 12¢ /100 km means 12 litres of fuel are usedv” for every 100
kilometres. v'E 2 E Explanation M
(2) L1
2.2 12 = 100 km 1S Simplification M
=679 km 1CA no. of litres L2
%(())l _ 679109; 12 vs
£ = 81.48 litres v'CA IR Rounding up
¢ = 81.5 litres vR 3)
23 | 120=100 km M
370 = km L2
12km _ 37 x 100 /s 1Simplification
12 12 1CA Kilometres
=308.33 kmv'CA
— 308 kL vR IR Rounding down(3)
2.4 4500 = 15 vyMA = R300vA IMA dividing by 15 L1
1A Amount
)
2.5 I5+6 = 21vMA IMA adding no. of people L2
4500 + 21 v M =R 214.29 1M dividing by 21
=R 21430 v A 1A Answer
3)
[13]

TOTAL MARKS : 30
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